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1. Introduction
There have been discussions in RAN#94e on the usage of NCD-SSB for RedCap UEs in IDLE/INACTIVE. Since the guidance from RANP is now clear on the (non) usage of NCD-SSB, we would like to use this short paper, to bring back the topic and discuss on RedCap UE re-selection with focus on saving power (which is an important factor) for RedCap UEs.   
2. RedCap UE re-selection dynamics
It has been agreed in RAN#94e that the RedCap UE will not be using NCD-SSB in IDLE/INACTIVE for purpose of cell (re)selection.
Observation 1. 	RedCap UE will be using only CD-SSB (no new NCD-SSB) in IDLE/INACTIVE for the purpose of cell (re)selection and legacy re-selection procedures are expected to be used by RedCap UEs thus far. 
RedCap UEs (like legacy NR devices) also perform RRM on neighbour cells in IDLE/INACTIVE for cell re-selection as part of UE mobility. Typical re-selection procedure involves the UE measuring the current serving cell and based on the measurements, triggering measurement of potential neighbour cells based on the SIB3/4 broadcasted neighbour cell/frequency info. And if the target NCell measurement as well the current serving cell measurement satisfy the cell re-selection trigger, the UE then starts reading the MIB/SIB1 of the neighbour cell to determine if this target cell allows camping.  If the target neighbour cell does not allow the RedCap UE based on the access restrictions (either RedCap UEs are not allowed, or this type of RedCap UEs are not allowed), then the effort from the RedCap UE is wasted in unnecessary additional UE power consumption and also a slight chance of missing a paging opportunity. 
It is better for the serving cell to indicate which neighbour cells support RedCap UEs and also to indicate the access restrictions (if any) that are placed on the RedCap UEs by these neighbour cells as shown in Fig1.  
Observation 2. 	There are power saving benefits if the serving cell indicates the info of neighbor cell support of RedCap and the access restrictions broadcasted in these neighbor cells. This can help the RedCap UEs avoid RRM measurement and cell re-selection to neighbor cells which do not allow this RedCap UE to camp. 
Proposal 1. 	SIB3/4 of the serving cell includes the information of the support of RedCap UEs by the neighbor cells as well as any RedCap UE specific camping restrictions these neighbor cells have broadcasted.
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Figure 1: Neighbor cell RedCap UE camping restrictions broadcasted in serving cell SIB3/4


3. Proposals 
Observation 1. 	RedCap UE will be using only CD-SSB (no new NCD-SSB) in IDLE/INACTIVE for the purpose of cell (re)selection and legacy re-selection procedures are expected to be used by RedCap UEs thus far. 
Observation 2. 	There are power saving benefits if the serving cell indicates the info of neighbor cell support of RedCap and the access restrictions broadcasted in these neighbor cells. This can help the RedCap UEs avoid RRM measurement and cell re-selection to neighbor cells which do not allow this RedCap UE to camp. 
Proposal 1. 	SIB3/4 of the serving cell includes the information of the support of RedCap UEs by the neighbor cells as well as any RedCap UE specific camping restrictions these neighbor cells have broadcasted.
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